
Löse die folgenden kubischen Gleichungen ax3 + bx2 + cx = 0

2x3 + 14x2 - 36x = 0
 

0.5x3 - 3x2 - 13.5x = 0
 

5.5x3 - 44x2 + 38.5x = 0
 

5.5x3 + 33x2 - 220x = 0
 

9x3 + 27x2 - 252x = 0
 

7x3 - 112x2 + 441x = 0
 

5x3 - 30x2 + 40x = 0
 

4.5x3 - 22.5x2 - 27x = 0
 

9x3 - 63x2 = 0
 

2.5x3 - 62.5x = 0
 

3.5x3 + 42x2 + 112x = 0
 

9x3 + 36x2 = 0
 

4.5x3 - 18x2 = 0
 

8.5x3 - 8.5x2 - 255x = 0
 

4x3 + 44x2 + 112x = 0
 

0.5x3 - 6x2 + 18x = 0
 

8x3 - 56x2 = 0
 

8.5x3 - 42.5x2 + 51x = 0
 

9x3 + 72x2 + 63x = 0
 

-2x3 + 26x2 - 72x = 0
 


